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Complete the following math questions. You wi

MIDTERM REVIEW

Il see these same topics on the Mid Term Exam. If

you do not have enough space, use loose leaf paper. SHOW YOUR WORK FOR EACH

QUESTION.

1. Ryan goes to a used bookstore where they're
having a big sale. Paperback books are on sale
for $1.50 each and hardcover books are $5.75.
Ryan buys 5 paperbacks and 2 hardcovers.
Write an equation {math sentence) to find out
how much Ryan paid for the books.
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2. Find the answer:
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3. Which equation below has an answer of 327
Show your work for each question.

4. Find the answer:

, A) 4x7+8+2=7
a. 4+5x3+5§=4 2%*"_““-?“
4154572 o
32)
b. 4+ x5)+8°%=
4+ 20+ 125 B) 12+ 6xf 10+2=7
Zga e
4+81+4x5= b6 - f
413+ 20
d. 1x16=
I x 1= 1

5. Mary bought school supplies. She bought 6
notebooks that cost 0.39 cents each, then 2
packages of pencils at 0.79 cents each and
finally one binder for $1.99.
A) Write an equation to show the total that
Mary spent on school supplies.

B) How much did she spend? $5 ey

A (6x0.39) + (2x079) +1.99
2234+ LS% 11,99
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6. Find the answer:

[(2+g4_é_i)]—[10 (4-40x3) =

(2+ q0) = L1o=- | xz)j
(%) + Lo (4 - 3)]
Qg < Lio=(1)]
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7. Mr. Wagner took his family out for dinner.
They ordered 3 different meals, that cost $10.99
each, 2 sodas at $3.00 each and 1 glass of tea
at $1.25. Write an equation and find the total
that Mr. Wagner spent on dinner (no taxes or
tip needed).

2%10.99+ 2x3 +1.RY

= 40.32

8. A football team’s record for the season is 12
wins and 4 losses. Write their record in a senten

A
b x 2 XL
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9. Use the table to answer questions # 9-11

City High Low
Temperature | Temperature

Montreal (5 -33

St. Jean -8 -35

Bromont (-9 -28

Sorel -1 -40

A) What is the range of all the High
temperatures? 5_f ( .-.5]) -
5+%
B) What is the range of only the Low
temperatures? , )
- 21 - (40)

\\(L\ —'{ _2691_40

,J
0} GutS :@

10. Arrange the temperatures from the whole
table, in order from the greatest to lowest.

OReaTeS T L OWEST
5 -1 ,-8-9,-36,-33,:35 %

11. What is the average of High

temperatures?
5¥-8¥-G-1 =13
13-4 = "3.35

@

B) What is the average of low temperatures?

“33t-35+-99+ -0

12. Mr. Olivier pays close attention to how much

money is in his account. One week, he(deposits)

$230.00, then he spends $15.00 on lunc twnce
m@

and then gave $25.00 to a friend.
A) Write down an order of operatlons

230 4 (-ISx 2)+-2F

B) How much does he have at the end of the

week? Rlo O +-33
(875 .
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. Pepsi if the price for 12 bottles of Pepsi is $37?
3512=0.35  (nit Price

U X0 95 $ 1% 4 Pepsi

Bottes.

13. How much would Steven pay for 4 bottles of

14. Charles went to the grocery store and bought
four salmon steaks for $6.95 each, 8 potatoes for
$0.75 each and two Ioaves of bread for $3.95 per
loaf. If he gives the cashier three twenty doliar
bills, how much change will he get back?

HX6.,9Y + 9K 0.3 + 2x3.95%
a¥.80 t 6+  +.90

2| Fp spent at T Shore

3 x20="00 -4 1.1v. #/3. 30 back
Fron Cashicr

a) How many hours did Brett work if his
hourly rate is $12/hr and he received

$228? ‘
228127 )Ghoyrs

| 7L

b} Find the unit rate: 4 dozen golf balls
cost $60

q Hxviafqzi’golf
p boalls
b0 %48=),95‘/jo/{ ball
(4t

15. Find the answer for each situation below:

16. What is the type of variable in the following
situation?

High school students were asked "what career
they think they will want to pursugwhen they

graduate from high school ™

(uatitative Variase

to the Fitness Depot store near his house. He
bought 2 benches for $30.58 each, 1 stationary
bike for $319.82 and 3 dumbbells for $45.20

pay the balance in two equal payments, how
much would each payment be?

b!-b0 +319.82+ (35 00
Spent in total= €516.59

g4 .
d 51638370 = 1950 = 2

17. Vincent decided to start exercising. He goes

each. If he gave a deposit of $320 and agreed to

2% 30590 + 21992 3 3x4S.20

Mﬁ@%}q. nstaflment

18. Ella had an overall term average of 72% last
term. This term, six of her grades were 95, 80,72,
50, 74 and 88. Did Ella get a better average this
term or last term?

g +%0 12450t 34 499
U459+ 6

100371

Kl a 9o+ o betler avcruge :_f__tr%g ferm
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19. Explain why the following question
asked in a survey is biased:
“Old Spice cologne smells kind of bad to me,
don't you agree?
Infl Ut’ndnﬂ or Uad
JCiug G Opvien o0 s lagoc

oYnG.

nj people v g'wt'/

bul nol

20. Jeremy decreased the speed of his car by 1
kilometres in 10 seconds. How much did he
decrease his speed per second?

o

15 KM [ 105ec = |.Skm [ fec

(Actiity < Time)
Lot et

21. Volunteers at a bake sale sold slices of
banana bread and raisin bread. They packaged
both kinds of bread together. They have 63
slices of banana bread and 45 slices of raisin
bread. They want to use all the bread in their
packages and have no left over's.

A) What is the greatest number of packages
they can put together? @ i the

3x3  ygf313]5
BB 31T QeF - 3x3=19

22. Alexia wants to give her dog a special treat.
She looks in her cupboard and sees 81 dog bones
and 54 pieces of beef jerky. If she wants to give
her dog the same number of treats every day,
what is the greatest number of days she can
give the dog these treats? o ! aj ¢

B) How many of each kind of treat will she give

. _ her dog? _
9(KU\)F€S+ number O-F f CK,C‘{jCS. 8' 54 BOF‘:CS %(._9?
A FAN = 3 bones
a’x9 P
B) HO\_N many slices of each kirgd_“?t; breag is 3 LYY
LGOS mes qiSsh‘uJ, 3?3 &3 e jfrrcj - 54=at
‘5: (33 ghus [2.:45 3y ] ‘or
A A Bawna | sql31313 <) a - A
A /_‘5@ = sbicqs A

3;3 x 3= ¥ doyS

23. A radio station is giving away a discount
coupon to Best Buy to every ninth caller and a
free concert ticket to every 20th caller. Which
caller will be the first to win both prizes?

9 N

{.}63 S xY

91313 = 3x3xsxY

20 . = |puTt calier

24. Lea is a deep sea diver. She descends below
the surface of the water at a rate of 60 feet each
minute. What is her depth after 10 minutes?

(O )Q’C*' = 4 vnunte

(,O Feﬁ‘+ x to minutes

e e
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ﬂ 25. Find the Degrees for each category below:

26. The table below shows the professions of all
of the members of a racket club. What

competition are shown. Order them from

Categories | Amountof | Degrees on | | nercentage of the club members are actors?
Money Circle Graph
<) Profession Number of
73
Rent 1800 3is 13 Members
Food 800 19 Teachers 115
Utilities 300 5 3. Lawyers o1
_ BN (6 Computer 120
Transportation 450 4y Programmers
Actors 103
Sl e s R T} Other 126
Total 3650 360 Total 515
SHOW YOUR WORK BELOW: b) Find the % for all the other jobs:
1900 ~ 3("5__8 Teachers= 115+ 51T7=22.3 —> 22/
: SR YOI ) . . .
Do . 295‘0 Lawycr;(ﬂglf?‘ls—)moo=9.:/‘>' 1o/,
S Comp” Prog (120 515)x 00 32371
(3o < 368 Larg . FVG i 2509
300 T 36§0 Actors =003 < 518) x 100 Y 4(;—v$b‘?
OFher =(J26 =515 X (007 I 2k
27. The points awarded to the winners in | 28. Round the numbers in the table to the
the men’s Olympic platform diving position requested.

(ap 1o
(\qqg) = (3. 31
(1992) = 380!
(1630) » ©00-3 |
1472) = Sod. 12

(
O

_highst to lowest. Length| Nearest | Nearest
: : River {(km) |Hundred |Thousand
Year Points Year | Points Mackerzie | 4241 [0 200 Jom
1972 50412 | - 1584 7109 St. Lawrencef 3058 | 3100 | 2000
1976 60051 1988 638.61 Yukon 3185 | 22 00| 3000
1980 835.65 1992 | 677.31 Peace 1923 | |900 | 2000
Athabasca | 1231 | | Q0O 000
Uq(a)o): 833.6S Ottawa 1271 | 13020 (o909
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29. Die Experiment

Frequency of Number Rolled

1 2 3 4 5 6
Number on the Die /2

711

Using the bar graph above, answer the following questions: /( 2 jy

a. How many times was the die thrown? 124\® ¥ (342446133 - )oﬁmejm .
b. What percent of the throws landed on1 or 2? 2o lllib AT

c. Are there any things missing/wrong with this graph? Or biased? List them.
. Frfqufncj Jeale- hay No Numbess 2

~No 1ee0??
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30. Complete the Table of Values using the data from the bar graph below.
O TODAY'S BREAKFAST > Confusiny T = Fawerite 27
230
P
[
©
1
O
[ .
o —
- _
2 -
£ 102
S
2 -
® |
. pussicg A2
4 B - ot gkt : _. -. L —— .. ﬂ7 Label'- '
> ) ges erea atmeal (xBage n the B{’g‘;‘gﬁ?
Choices Frequency Percent
EGES 730 (2304491 w100 = y¥ )
Ceccal 92 @2:479 <00~ 19/
Davmeac 36 (36:4FH) x100- 7577
BOGEL] MUFFN l02  loz=y47Hx00 =211
OTHEE [+ (1747 xioo=4/.
¥Total =477 ={07.
a. What kind of variable is being studied here?
(Qualitanve .

b. Are there any things missing/wrong with thi graph? Or biased? List them.
ONo +otals in Freguency Tabte () Scale is mising numbers.

(3)hoes NOT Hart ot 2ih (D) fus Vot fabelled @ Ttz can Fe confusi
@60‘§€' 1 MJFFM-—I'\{CO( fo be SepgraTeE Ca 5’69&1’(5.







